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Subject Name: Water Supply and Sanitary Engineering
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C. U. SHAH UNIVERSITY
Winter Examination-2021

Subject Code: 2TEO5WSE1

Semester: 5

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.
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Attempt the following questions:

Per capita water demand is calculated in .....
(a) Liters (b) Meter cube (c) kg (d) gallon

Which method is used to measure the colour of water?
(a) Gravimetric analysis (b) Tintometer method (c) Chromatography (d)

Hydrometer analysis

If P is the population, then fire demand of water in litre per minute,

according to kuichling formula is given by .....
(a) 3172VP (b) 3180P (c) 3182VP (d) 3189P

(14)

In which method of population forecasting, increase population from
decade to decade is assumed constant?
(a) Decease rate of growth method (b) Geometric increase method
(c) Incremental increase method (d) Arithmetic increase method

The average domestic water consumption per capita per day for an Indian

city as per 1S:1172 is

(@) 135 litres (b) 145 litres (c) 200 litres (d) 250 litres
Water losses in water supply system are assumed as
(@) 10 % (b) 15 % (c) 20 % (d) 25 %

The average rainfall of a country is a figure of

average over a

period. (a) 5 years (b) 10 years (c) 35 years (d) 100 years
The most widely used type of tube well in India is
(@) Perforated well (b) Cavity well (c) Slotted well (d) Strainer well
The suitable method for forecasting population of a young and rapidly

growing city is

(a) Geometrical increase method (b) Arithmetical increase method
(d) Incremental increase method (d) Graphical method

Turbidity of water is due to ...

(a) Suspended clay (b) Suspended silt (¢) finely divided organic material

(d) all the above.

The maximum permissible turbidity for public water is
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n)

(a) 10 ppm (b) 50 ppm (c) 100 ppm (d) 250 ppm

The pH value of drinking water should be ....
(a)4.5t06.5 (b)6.5t08.5 (c) 8.5t010.5 (d) 10.5t0 11.5
The most common cause of acidity water is

a) Hydrogen b) Oxygen c) Carbon dioxide d) Nitrogen
Drinking water will safe. f B.O.D is ....

(a) 250 (b) 100 (c) 10 (d) O

Attempt all questions

Which are main sources of water? Explain any one in detail.
Enlist types of water demand and explain any two in detail.

Attempt all questions
Enlist and Explain about factors affecting to PER CAPITA DEMAND?
Enlist methods for Population forecasting and explain any one in detail.

Attempt all questions
What is potable water? Explain in detail impurities in water.
Write down objectives of water treatment.

Which are main parameters required for water quality? Write down all
parameters in detail

Attempt all questions

What is sewer? What are the various types of sewer?

Enlist sewer appurtenances. Explain any two in detail.

Attempt all questions

Explain any one method for sewage collection with its advantages and
disadvantage.

Which factors can be considered for selection of source of water?

Attempt all questions
Discuss about hydraulic formula for velocity in sewer.
Enlist and Explain in brief of test for sewer testing.
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Attempt the following questions:

HiaEls ulelldl Hiol apidl gl sami 2ud &
a) dlzz b) Hlez 2401 ¢) [5al  d) Olae
WLBlAL $&R HIuAL 58 Ha Al GUAIOL 52ALML 29 &

a) Axcaustil [Aeauab) (2e2iHlzaiag c) siuziuisld) sidgiHlzasaue

ol Paxdl 8, dl $[RE1 Yot st WA RA2 @2z wiefl{laiondl diol Al gzl sy 2ud
8?

a) 3172+P b) 3180VP c) 3182VP d) 3189\P

Al ALl 59 ughlani syl st YHL ardl dHIRL Add HidAUHi 2ud 8

a) [2l52 22 Has b) [BralliiBis S50 Has ¢) DlsHA2d ©l59 Has d) 21

1S:117246x061 s MIRAIA 2GR HIZ eRUsy HIALELS URR1A R wIRlldl quRiel 524l Ba) 135 cll2zb)
145 dl22c) 200 dl22 d) 250 «l22

Wil yrast usuelni wisfldl viiz s2dl Hidami 2ud &
a) 10% b) 15 %c) 20 %d) 25 %

The average rainfall of a country is a figure of............. Average over a period.

a) 5 Years b) 10 Yearsc) 35 Years d) 100 Years

QURAML el ay, GUAAHI Adldl 23e1Ad 53, &2

a) U1l A [9lga b) A1kl <ld uiaer c) A1kl <ld slotted  d) 2412 <ld strainer
3ald i 23Ul [Asudl 26l adledl 2uonel seal Hiz<l Aoy ughla © 58 B
a) A5 9=zl ugald b) visolbid el ugald ) asiidl ales ugild

d) Alzsa ughld

LBl 2(oul2] s 5120 £9?

a) UzU3s HIZID) Uz siuc) Gél [AMisyd s16i(s A14ld) Guzisd dHIH

oM Wl HI2 HedH AqulAun 2(BR2] 952 &
a) 10PPM  b)50 PPM  ¢) 100 PPM d) 250 PPM

lal well{PH yeu 524 €lq saldu?

a)4.5t06.5 b)6.5t08.5¢)8.5t010.5 d)10.5t0 11.5
RARA efl Aea s12@ 85 wiell 82

a) SlOglord b) 2UslRA €) 51014 SLAsAISS  d) Al2isy<l
&1 B.O.D. Q1A dl Yl uiefl uemd 8

a) 250 b) 100c) 10 d) 0
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Attempt all Questions

~ o~ ~

YLELALSAL HoA 2oL 89?2 515U 215 (A4 syrLdl

YLEELAL Hivtdl w5120l gl otdidl 244 siSu ot [Fo1da12 sypudl

Attempt all Questions

UlA afsd Hidld p1UR 5241 RO M 521 244 A1l

Qledl 206l Mzl ugalaiicdl s 520 i 5ISURL 25 [AAAIR AHMAL
Attempt all Questions

lanaees il g 9 2 wiellui 266l 21924214 [Ao1da1z a1mdl,

x5 AL Sl AUl

YLl oyl HI2 5L e wlemiol sx39 €92 opE wlemiel [Foidaiz qvil.
Attempt all Questions

222 9 92 uLEilni 264l vigfzHptiq (AR AHmAl

922l ALl Al 520 515U oL [Ao1daIR AHMAL

Attempt all Questions

9122 AU Il S1TUBL 215 UgA[A dedl 51AEL 2 A1R51AEL WA AHMAL
YLEHLAL 230d<] uzizall Hi2 5241 wRooe 2adul | as1?

Attempt all Questions

A2HI 421 HI2 slHgUEs A (A9 22l 52

9122 uZlEnL HIZ AlardHi duil v AHMAlL
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